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4. ANSWER ALL QUESTIONS. You should use an HB pencil to mark all your answers on 

the Answer Sheet, so that wrong marks can be completely erased with a clean rubber. You 
must mark the answers clearly; otherwise you will lose marks if the answers cannot be 
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There are 18 questions in Section A and 9 questions in Section B. 
The diagrams in this paper are not necessarily drawn to scale. 
Choose the best answer for each question. 
 
Section A 
 

1. Simplify
4 4

2
1 5( )a b

a b



  . 

A. 10 2a b  
B. 6 18a b  
C. 6 3a b  
D. 8 3a b  

 
2. If ( ) (1 )m m a a m   , then a   

A. m . 
B. 2m . 
C. 2m . 

D. 
2

2
m m . 

 
3. 2 2        

A. ( )( 1)      . 
B. ( )( 1)      . 
C. ( )( 1)      . 
D. ( )( 1)      . 

 
4. Let c  be a constant. Solve the equation 

( )( 4 ) (3 )( 4 )x c x c c x x c     . 
A. 2x c  
B. 3x c  
C. x c  or 3x c  
D. 2x c  or 4x c  

 
5. If two unequal integers x  and y  are 

divisible by 9, which of the following 
must be divisible by 81? 

  I. 3( )x y  
  II. 7xy  
  III. 2(2 )x y  
 
 A. II only 
 B. III only 
 C. II and III only 
 D. I, II and III 

6. 636.0   

A. 
11
7 . 

B. 
250
159 . 

C. 
300
191. 

D. 
333
212 . 

 

7. For 1
2 7

y
x




, y is a function of x. 

Which of the following is the domain of 
the function? 
A. All real numbers 

B. 
7
2

 x  

C.  
2
7

x    

D.  
2
7

x    

 
8. In the figure, 1 //L L and the x-intercept 

and y-intercept of 1L are 2  and 1  

respectively. Find the equation of the 
straight line L in the figure. 

O
x

y

1
2

L1

A(1, 2)

L

 
A. 052  yx  
B. 032  yx  
C. 042  yx  
D. 02  yx  
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9. The figure shows the graph 
of 962

  xxy . Find the axis of 
symmetry of the graph. 

x

y

O

1

2

3

4

1 5432

y  x2  6x  9  
A. 0y   
B. 3y   
C. 0x  
D. 3x  

 
 
 
 
 
 
 
 

10. If
1

)(



x

xxf , then  )2()1( xfxf  

  A. 
3
2




x
x . 

  B. 
2
1




x
x . 

  C. 
3
1




x
x . 

  D. 
3x

x . 

 
 
 
 
 
 
 
 
 

11. Which of the following may represent the 
graph of 9)3(2 2  xy ? 

  A. 

(3, 9)

O

y

x

9

 

  B. 

(3, 9)

O

y

x

9

 

  C. 

(3, 9)

O

y

x

18

 

  D. 

(3, 9)

O

y

x

18

 

 
12. Which of the following represent(s) that y 

is a function of x? 
I. 13  xxy  
II. xy 2  

III. 62  xxy  
 

A. I only 
B. I and II only 
C. II and III only 
D. I and III only 

 
 



2022-2023-S4 1st TERM EXAM-MATH-CP 2-4 

13. In the figure, 1L L  and 1L  passes 
through the point ( 5,0)  and (0, 6) . 
Find the equation of the straight line L in 
the figure. 

O
x

y

6

L1

L

5

 
  A. 03665  yx  
  B. 03665  yx  
  C. 03056  yx  
  D. 03056  yx  
 
 
14. When 13  xx  is divided by x  , the 

remainder is 
A. 3. 
B. 1. 
C. 1. 
D. 3. 

 
 
15. Let h  and k  be real constants such that 

0hk  . Which of the following statements 
about the graph of ( )( )y h x k x    are 
true? 

I. The graph opens upwards. 
II. The graph has two x-intercepts. 
III. The y-intercept of the graph is 

positive. 
 

A. I and II only 
B. I and III only 
C. II and III only 
D. I, II and III 

 
 
 
 

16. .In the figure, the equation of the straight 
line is 0x ay b   . 

O
x

y

x  ay  b  0

 
 Which of the following must be true? 
  I. a  0 
  II. b  0 

III. ab  0 
 

A. I and II only 
B. I and III only 
C. II and III only 
D. None of the above 
 
 

17. Let 2( )g x x ax b   , where a  and b  
are constants. If ( )g x  is divisible by 

2x a , find the remainder when ( )g x  is 
divided by 2x a . 

 A. 22a  
 B. 0  
 C. 22a  
 D. 24a  
 
 
18. If a polynomial )(xf  is divisible by 

4x  , which of the following must be a 
factor of )3( xf ? 
A. x  
B. 1x   
C. 2x   
D. 3x   
 
 
 
 



2022-2023-S4 1st TERM EXAM-MATH-CP 2-5 

Section B 
 
19. In the figure, the graph of 2 4 3y x x    

cuts the y-axis at A. V is the vertex of the 
graph and AB is parallel to the x-axis. Find 
the area of VAB. 

 
A. 7 square units 
B. 8 square units 
C. 10.5 square units 
D. 17.5 square units 

 
 
 
20.  Find a quadratic equation in x with the 

roots 113  and 113 . 
A. 0262  xx  
B. 0262  xx  
C. 0622  xx  
D. 0622  xx  

 
 
 

21. 



 74

1
74

1  

A. 
2 7

9
 . 

B. 
9

72 . 

C. 
9
8 

  . 

D.  
9
8 . 

 
 
 

22. If   and   are the roots of the quadratic 
equation 22 4 3 0x x   , which of the 
following is a quadratic equation with the 
roots 1   and 1  ? 
A. 22 2 1 0x x    
B. 22 2 1 0x x    
C. 22 1 0x    
D. 22 1 0x    
 

23. If    and 
2

2

3 5 8 0
3 5 8 0
 

 

   


  
, 

then 1 1
 
   

A. 
5
3

  . 

B. 
3
5

  . 

C. 
8
5

  . 

D. 
5
8

  . 

 
24. Simplify

2 2 2 2

1 1 3 15
2 3 3 2 9 4

ab
a b b ab a b a

        
. 

A. 
)23(3

)(5
ab

ab

  

B. 5( )
3(3 2 )

b a
b a



 

C. 
6

)(5 ab   

D. 
6

)(5 ab   

 
 
 
25. Which of the following statements about 

the graph of 22 8 17y x x    is true? 
A. The graph opens downwards. 
B. The y-intercept of the graph is 9. 
C. The axis of symmetry is 2x . 
D. The graph intersects the x-axis. 

 

2 4 3y x x    
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26. Find the H.C.F. and  L.C.M. of 342 rqp , 
53rpq  and  rqp 23 . 

A. H.C.F. rpq2 , L.C.M. 543 rqp  
B. H.C.F. 543 rqp , L.C.M. rpq2  
C. H.C.F. 32rpq , L.C.M. 543 rqp  
D. H.C.F. 543 rqp , L.C.M. 32rpq  

 
 
 
27. Let P and Q be constants. If 

9 3
( 7)( 8) 7 8

x P Q
x x x x


 

   
, find the 

value of P  and Q . 
A. 3 ,9    QP  
B. 9 ,3    QP  
C. 5 ,4    QP  
D. 4 ,5    QP  
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